FINAL EXAM-WINTER 06 SHORT FORM
EACH QUESTION IS WORTH 5 MARKS.

1. With the help of factoring simplify:
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2. Solve the equation.
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3. Find the inverse function (f -1 (t)), given; f ()= P44 (r>0).
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4. Solve for x using quadratic formula, given: —11x”+12x-1=0.

Xf/ Iﬂ,{’;,//

4, ,\3
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6. Given: a) f(x)=2x+7, find fx+ h}z ~ () . A 2
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b) Rationalize the denominator and simplify, ://—_2, 7S /7
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7. Find the equation of a line in standard form passing through (0 2) and

perpendicular to the line represented by 2x —3y +6 = 0. Graph this line (2
indicating x & y intercepts. Aws$ 3 x4 27 =

- 8. Given: f(x)=2x"-1  g(x)=2x-3. Find
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9. Graph the parabola represented by the equation y = —x? +2x+3.

Calculate and indicate on the graph, x and y intercepts, line of symmetry, and the
co-ordinates of the vertex. 2
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Given secf= }—53 and tan® > 0. Locate this angle in its proper quadrant and
then write all other trigonometric function values. +
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1) sec(—l%ﬂ,) = °

2)  cot™(5.7), 6(DEG)=

3) logs3125 = 5

4) log(x)=-3, x= -/

5 In(e™)= | /3.8

a) Locate these exact value angles in their proper quadrants, label the

three sides of the right triangle and then find:
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The angle of elevation to the top of the C.N.Tower from a point on the ground
200 m from the base of the pole is 66°45". Find the height of the C.N. Tower.
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Verify the identity.
cscl—cosf-cotfd =sinb

Solve for ‘x: 0°<x<360°

Btanx+1=0. f?{/{ﬂoaﬂ 330‘7

Sketch the graph of y =-2cosi(x) for one period interval, calculate and

in(clli_cate on the graph, (i) ampli’fuieq}w (if) period (iii) quarter points co-
ordinates iy WA =, Gn _
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—n YT ATV joWn( 0?“/3/3ﬁ ) cj”/zJ er
Sketch the graph of y =log;(x). Indicate the x-intercept point and

additional 3 points (at least one point betwegn x=0 to x=1).
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Solve for t:

logp (t+22)—log2 (t+1) =logy (2)3 S f: P
Solve for t: 2(4)1'7’ =262144 . /97}/5 L= 5

The wheelchair ramp is in the form of a circular sector and is 2 m wide. If the
inner radius is 10 m and the central angle is 50°15’, find the area of the ramp.

(Asesr =201°) Ans A=19.29w*



